BTNE “BEAR REFRIERABBAERTZFLIFE R

Fs BB &R IR
1 EH T, BNFES 1 PR ORI LS R 5 L LR IR B A T LR S
2 L7 Gl “HERSCT T R AR R RSO B S I BR AR BT T AR
3 B AR 2 5 )RR BB 5 LRSS
4 RIHERILAR “MRELTE” X HIT AR
5 IS B A [ AT e FET AHP—AGIL i RIS R B 26 AR 2 i it WL 6 4 BT B AR B 5T AR
6 AT TR REVRBOHE £ RHRMAIT T8 ——F T3 R W o 2 AR 176 e [X 491 0 1R 9T 2 AR
7 ST A AR R R A OO A AR
8 SERE) 3 9 FE BN e T LA 1CT R R G R 45 LR LS
9 e S RN Gy S RN 1y R R R IN (o4
10 B ——Hr R e R E L R R Zr SBMoS 24k fi R R AR 2% AR
11 SR, TR B ——THT VB A7 MU R 2 B RO 1 8 (o4
12 B IR 2 A RIHE PR BB BT R 5 LR LS
13 WU S+ N [AIEGFR / HER2 [T 245 7 72 e
14 CHURIL” AT G LRSS
15 THT 7038 240 5 7 B T8 < TR L e A S B BRI 15 2 (o4
16 T R T B 5 - B e P R AL R R B B AR
17 GG FEA BRI IR R 2 R BRI — AL IR R AT AR
18 TH 71 5 €5 5% WA A 245 11 3 2 o B ) . 2 PR (o4
19 B S BEAT — 1R L B T P K R WL P T % 2 AR
20 ST A B —— BT B T MU 0 2 3 B R A L3 e (AL R R T LRSS
21 R BETE R R (e 47 PM2. SR 42 T B A — 3 T 30T T U T 17238 i R 2T —EA
22 CONEET S CRRAET SHEBEIRS AT W IREARET —a
23 6. “fHE E 2030 P T BEIFRE:A IRS HEGEHEML R 205 R R R B AR 7 —a
24 BB AL I T ATGCI) 53 T AL FIAT A S AE b ST e —— 26 T-647 L3233 0L I R A VA & —EA
25 BIFR DK PR BT —a
26 R AT TE N ME TR S R R G —%
27 HHERFH—— 7K T O = 4R AL —a
28 IR 2 e A 75 TSI B AR AR AR e U —
29 B 7 — PSRRI R R 2 DD R AR I A A —%
30 TR TS -Pt TR e b A 7R PR ) 8 B 7= b A —EA
31 R 45 B TR N UK 04 SR T LA R B Fenton e N T AR —AEA
32 St SRS 43 F IR (R 2 SR B RO AL & 1202 %
33 B3 BAT AT B X Rl SRR K R G %




34 VT T R LU A R PR B I R g it 5 S —EEA
35 S —— g RVE . TedR 0 I A AR 2 R —EEA
36 PRI — PRGN 1 G 2 2l B BRI T —
37 O B, WAt REETR A TRE Se T —
38 CEET R MR SR A I A PR R S R R T RE AR R —EEA
39 “UKGL” AR R RALI B R B AR —
40 CE AR TR 5 BRI A RO K —a
m 1 IS N ANV $7) S v dj_?ﬁj%;*éiﬁiiﬂiiﬁﬁi\%%lﬁ P&*’Q@LﬁE‘ﬂ%%%#fﬁ%ﬁ%?ﬁ——%?m oy
AR 12505 [ ZX 2 Ak 1) S IR AT
42 FEIEY, FEMER—— RN ERT T IR ek —a
43 BRI T T EN e A% 7K 5 R SR B AR T AT —EA
44 W “BE” e ABHAARGE N GRS H AL A SRR T B R S —— 25 T L AR LAl i A
45 AT G RB R H R R IEE —
46 IRALEIEAE? BRI REIRAR S 47 RURck —
47 UCTD i BRI A% IR e I3 AR
48 5 T - A B AL AR A it 24
49 AT PR Sk Bk B D RG22 ST e o [ IR ) 4 (0 2 4 R AR
50 B MR 20T 6 3R S 80 T i R 4t it 24
51 — A BRI A R T BRI RSV VR 5 T 3 1 4% it 24
52 A TH AR BN 2 HUR 5 5T 2RSS BAE = Rl R 5% it 24
53 RN —— i I RS R S R TR O E E k24
54 T e e 2 AV B 1 52 P T 50 B A R 43¢ AR
55 DeepCare——3& FDeepSeek 5 411K B 1 % 4ekk e 512 R % AR
56 FAETAT R 2 A 1 D 2 A TR I AR T
57 RIS —— IR ARG T /K IR TR P A4 Tt it e M 00 T it 24
58 HE B BT IL T i R 5 AR
59 T 5 2 F7 S TR SR A R M R B A1 G A % it 24
60 B R 7T —— AR T P A (0 AR R B AR it 24
61 M7 Rk —— & AR DR A AT B it 24
62 “Rig” e AR it 24
63 7R CRAB—— MRS R IR R TR RS AR
64 REEMFFIE—NRB T PAERERTEE SRl Sk 5 0 5 2 B R HC R IR 3 1 & T
65 LLEAEN « YT Bt —— SR B G S S HIRGR S I AR AT A it 24
66 5 RS /N AL BT R T AR 5 —JE T L S AL A AR
67 CREE-EAET —— R Al L S AR ST AR PRI XU AR B AL AR




68 T LT AR —— % R SRR T Ll A/ = 2 SR /5 2 R £ L e
69 CREE” B KPP BmARILRE ST 16M ST e
70 BRI 5 (5 R DU E 5 7 B 5 e 3 4
71 IR £ 28 50 SR I MR HEFH 0L S 2 2 e 3 4
72 FRRICA, QUFTBUE —— N S SRR 00T (BRSO L 5 S TR E 5T e £
73 a2, 0: AR 1 5 LR 5 6 R A R 0L e 3 4
71 FO L, ARAEH —— (R I ST A SO SR 5 0 S0 9 9T e 3 4
75 GRS, SRATE: WA NI S R DR 2 R A A A T e
76 BRSOk SRELHS Te SETHUMRERIL R 1Tk T IR AR THIF S —— A2 M. B 25 ot g
7 ARG, SRR —— SRR ITAZ AR B o e R R R B S BRL  5 24
78 PRI e B R 1 3 P R B =
79 R ERRA S A2 514 Exd
80 HEF IR AR D B RE IR A SR 2 4 =55
81 VTR AR A8 A Exd
82 B 5 ——3 T IR IR O R AL B R 4 =55
83 B U 2 3R A B s 5 B8 B R B 0 A 4 M ) P 1 ) e A 2 T Exd
84 Vh I —— T VR 2 STRVE B SEATLIN 2 D VD TR R L3R A Exd
85 —HLanbi i BEAME 7 v Exd
86 [ 7 5 BT £ SR K T AR M R G5 % K Exd
87 RO ——AIRBE AT S I E R % Exe
88 ST i b R BEIR —— B0 i R S Exd
89 BEEG- BN T Exd
90 TR S S5 ML 1R BB e B 4 R Exd
91 WERERATH “HRE” —HRPER RSO 3 T B 5 51 Exe
92 P2l B Trans former /K F B8 5 R G115 B+ Exe
93 R B — %R RS Exd
94 FFERNOXHE PR 502 0 % 5 S5t 26 2 R 9% =&y
95 SR e B — LI U AL TR S A Exd
9 R UPRE P S R SR O =55
97 G T b —— T AR SR B A5 S AN, 51— B Exd
98 T B ~B7iR N R B T M 0T Exd
99 Rl Y 4 S — R I 5 P ARPET =y
100 TR A — R 1 1 ) 5P 15 0 R A A A i S5 Exe
101 BV + R b 24k —— S RE B A~ R SE P RH B LR T T < Exe
102 S P A L 0 2 ) 26 S B LA MR B 4 o )7 ) Exd
103 Rl 7950 Ee— MR 7 Rl 5 R Exd
104 WL/ R 5] 6 W LR B 6 Exd
105 I A P e o 0 A B AT 22 Exd
106 U2 o A DTV U T R A Exd
107 PRVS V7K~ T REHE VR BT E P AE R U K A0 3 o £ Exd




108 CIE” SRTERE HL 7 T - A H AR B A (O AR YR S = 14
109 AINER AR5 2% AT KNN: TG 5 1 F P 5 P R 0 5 ) B LR T 7 AR
110 R P AGNK B ER S A AR HLLA R 7 R = 14
111 “ET DA ——HE TR IR Z IR 0 PERE S Jm A e A ) A
112 PR B —— AT XA HE SR AR AT LR Do g ek 7 2R 5 =E
113 S T-ABC307TE 75 eAR AT B R G REBF 92 S FLLED &1 B i AR
114 CHISEREE” —— R T BBl U R A G L BOR = 34
115 e HI R GUE T ——— ot e i ] ol AR A 0 TR (1 e B A
116 BAN AT =BT R RO 75 7K R 5] B = 14
117 CHL” SEREIR B —— PP BB LA @ CoFe PBAHH 2 £ LR A AL 7 = 14
118 A PEREES SR Bl A PR R I 4 S DAL FR i A
119 AR —— AR R L GE AR R K O S ¥ = 14
120 DENUH AL B ST R S L i A T 0T A
121 UK, RERGUL—HT AL I KA AR
122 BRI —— M AR PR AR A T R AL A A 25 T v b SR R AR
123 S Y R IR A9 Bk LA A R 7 R R A
124 HEER -0 O RECAE AL 8 AR
125 FTIEFA SR TP R 1l AR 48 RAR SCAL i g B —— DA 45 A 1] = 14
126 VISR, DARREZ S RTESCW Mxt 5 AR A i 55V 28 i IR A S i —— DAL AR 48 5 i Tl A ) = 14
127 e R AR SR T A BUIR b5 R SR IR 5 AR
128 NERR B SO U = A B A % ) g S SO A% ARCHT B A O TR AR
129 B2« SO Bk—— T S AR IR B 28 H S IR (B B ARTET L BRIR R = 14
130 FE LA EARAL K S R R T FE = 14
131 A REE BRI Tl ARETRRRER A A
132 G2t YU ARG, TR LLB A —— B T AR T AR SR L T IR 1 SR AR R A
133 BN SRR AR TR EETE U T A B A AU T —— R LU A8 29 R £l (TS A
134 CREVER” ORI R AR DI T 7 b SR B 2 e 5 R R TR IR B xS A = 14
135 BB KPR R IRAT A = B A AR 5T =E
136 SR AT BRI R 22 e S 3R E Al R SRS ——JE T 1L L BOGR SCR IR A 7T = 14
137 TR B UM BB B9k R 85 AR AL B 1 =
138 BONKAAL 22 A I —— ST I B S PR BRI AL e R T 4 o = 14
139 A AR IE T B TR - T AT 3 B T 2 (KR BT 3 A = 4
140 LR RS RTINS E R PO A
141 B SRR T 202 RN MR ERIT AT A
142 CHb” I ARBIR T IR ARSI AR £ ARG T — BABE R T B B A ) = 14
143 BT AR A AR TE A SR R KR VR B ——HR BB 5 SO 3R B S T e [ 5 = 14
144 PR AL 7R 5 A2 A ORGP O B 5] B AR I T — 6 T 1L 2R A8 W S i F SRR 2 = 14
145 ERIRTAR: B RLATTYe, SR A RAR HE SR (1) 5 B 7T A




